1. Calculate

8400 +7 =

2. Warren has saved
£32.40 in 20p coins.
How many 20p coins
does Warren have?

3. Noah buys a pack of
24 cans of cola for

£6.00. What is the
cost of each can?

4. A builder needs
7600 bricks to build a
wall. There are 540
bricks in a load.

How many loads must
the builder buy?

The price of one load
of 540 bricks is £230.
What is the cost of
one brick?

B. Calculate

544 = 32

6. A box holds 6 eggs.

How many boxes are
needed to hold 652
eggs?

7. Write the answer

816 =24

8. Calculate

9024 - 22

9. Eggs are put in trays
of 12.

The trays are packed
in boxes.

Each tray contains 180
eggs.

How many trays are in
each box?

10. A spoonful of cough
mixture is 5ml.

How many spoonfuls
can you get from a
bottle of 375ml?

11. There are 28
children. They win a
school competition for
£140. How much do
they each get?




